INTEGERS RECAP
Grade 9
Learner homework

Day 1

First name:

Surname: 6 .

School: mgths

Grade and class: e.g. Gr 9B . connect

Date:

1) Work out the following without using a calculator

a) 3-8
b) 8-3
c) -3+ 8

2) Work out the following without using a calculator

a) 1-5+ 2
b) 5-1+ 2
c) -5-1+2

3) Work out the following without using a calculator

15
a) ?

b) —

c) —

4) Work out the following without using a calculator

12+3
a) —
-3
p) 322
-2-1
-3-12

-7+4

c)

5) Work out the following without using a calculator

a) (=5)
b) (—4)°
c) V-8

6) Challenge!! (still no calculators)

a) -5+ 2+6
4-1

d)

d)

f)

d)

e)

d)

e)

b)

-3-8
~3- (-8)
—3- (+8)

-5+ (1-3)
—5-(1-3)
~1+2-3+5

-15
-3
—(=3)
15

—-(-15)

—5-4
+6+(-3)

—5-4
+3)(-1

23 _ (_4)2
—4 + Y64 — (2)?

3-12
+3-1

—5—

This worksheet was produced by Wits Maths Connect in collaboration with Shongile Mashazi, Ditshebo Molepo & Phumzile Mthiyane
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INTEGERS RECAP First name: O

Grade 9 Surname: mgths

Learner homework School:

Day 2 Grade and class: e.g. Gr 9B . anngct
Date:

A. Put anumber in a box to make the following statements true
i) [JxEe)=12 i) [] - 3)=4 i)y 7 +[ ]= -4

B. Give 3 possible answers to make the following statements true.
For example: |:| X |:| = —12
Possible answers are: X = —12 x[6] = —12 X = —12

[« =-10 7 L-e2=1]

2) [+ [1]=-5 8) [I-3=[]-2

3 [I-[Ll=-s5 9 [+ [x[]=-6

100 [ |-[Ix[ ]=12

L]
I
!

1) (LI+Lh+Es =11

12)

6) —5—(J+[])=-23

This worksheet was produced by Wits Maths Connect in collaboration with Faeeza Rawat & Tawanda Mawire
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INTEGERS RECAP First name: O
Grade 9 Surname: witsth
matns
Learner homework | School:
Day 3 Grade and class: e.g. Gr 9B | cqnneCt
Date:
1) Calculate the following without the use of a calculator

2)

3)

4)

5)

a) (7-12)4 d) (7-12)(-4) g) (=11+6)5
b) (7—12)—4 e) —4(7-12)
o (7-12)+4 f) 4(7-12)

Choose a number for the box which will make each statement true.

a) 3(L]+5)= -3
b) (- ]+7)-4= -9
o —4(_J+7)=20

Look at the responses to the questions below and decide which ones are correct and which ones are
not correct. Where responses are not correct, provide the correct responses.
i. —-5410—24+4=15+6=21

i 2(=4)+ (=2)(4) = -8+ (-8) =16
i. 6—(3)(2)=32)=6
iv. 13-4+ (4) =13

The responses of one learner are given below. Are her answers correct? Say what is wrong with any
incorrect answers.

i. 3+(4-7)=3+3=6

i. 3—-(4-7)=3-(-3)=6

ii. 3+(7—-4)=34+3=9

Givenp = —2,q = 7 and r = —1.Substitute these values into the expressions and simplify without
using a calculator.
a) 2pq f) q°—pq
b) p(q—p) g Spq—T
o p+q—vp h) 3p+2q
d) (p - CI) —q . 4pqr
I) _—2
e) 10r2 +p

i) (pqr —p*q3r®)°

This worksheet was produced by Wits Maths Connect in collaboration with Comfort Chigabo, Constance Motsiri & Pat Mpotu

2011/11/22
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